Efficiency vs P,

10.05
o
9.045
>
20.04
o
.035
0]
0.03
0.025
0.02
0.015
0.01
0.005

.................................................

.................................................

1.0

T T[T T T [T [T [ TT T [T T [T [T 17T
—_——

Ratio

o
©
a

=
o
iN

1 10 . Gedf’

—s=— DQM_V0001_R000000001__Global__mkFit_CAND100stable
—— DQM_V0001_R000000001__Global__mkFit_CANDFINAL100stable

= 0.1 :

0 E E

>\0.09:— """""""""""" S

S0 0ak :

(]__,0.08:— """""""""""" A A

o o .

£0.07F -rerboereefrdoennns S S

3] E :
0.06;— ---------------------- T FERFTEN
0.05F -+ eef{dnenenene S P P ST
0.04F -+-ebererpdeeen e de
0.03F-++++-feef -1 ffreee- 7 [SEREEE S R S
0.02F -+ | S :
MER

o L_bof....l....|....!....|....|....

T r i

hd N H

- k. HI1t- it 4 44

09835 1 0 1T 2 3

Efficiency vs ¢

o0.05¢
o E
2.045F
2 :
50.04F
o .
.035E
o :

0.03F
0.025E

0.02F
0.015F-:1-- 1

0.01E; i
0.0056 {3+ bd el -t F - Lokl

1.0 B

Ratio

||'-|||| T




	Contents
	Page 1


